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Quiz #1

June 21, 2011

Please answer all questions in a neat and legible manner. Illegible answers will be counted as wrong answers. Please show your work for all questions. 

1. You are asked to find the slope intercept form of the equation for a straight line and you are told that these two points are on that line: (x, y) = (10, 20) and (12, 18). 

2. You are asked to find the slope intercept form of the equation for a straight line and you are told that the reciprocal of the slope is -1/2 and that the line contains the point (Q, P) = (10, 10).

. 

3. You are taking a course in chemistry this semester and the course has three exams that will determine your grade. The first exam counts as 20% of your grade, the second exam counts as 30% of your grade, and the third exam counts as 50% of your grade. Suppose you need a total of 90 weighted points on a 100 point scale in order to get an A in the class. If your first two exam scores are both 80, what score do you need to make on the third exam? Show your work here and how you would approach this problem. It is all right to round to the nearest whole number for your answer-but you must show your work or verbalize your reasoning to get credit for your answer. 

4. You are taking a class in the statistics department and you have already gotten two scores back from exams. On the first exam you made a 36 out of a possible 75 points and on the second exam you made a 21 out of a possible 30 points. Both exams are being given equal weight in the calculation of your final grade. Convert these scores to a 100 point scale and then provide your average based upon these two scores as measured on a 100 point scale. Show your work here and how you would approach this problem. It is all right to round to the nearest whole number for your answer-but you must show your work or verbalize your reasoning to get credit for your answer.

5. For each of the following statements identify whether the statement is a positive or normative statement.

a. “All birds in Wisconsin are red.” _____________________________

b. “Children should be seen and not heard.”  _______________________

c. “Welfare reform should include provisions for childcare.” ____________________

d. “If I drop a rock, it will rise.” _______________________________
e. “A five dollar tax per gallon of gasoline purchased will not reduce the amount of gasoline purchased.” ____________________________________

f. “Everybody should go to college.” ________________________________
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